Analytic Geometry
Chapter 6.6

Secant and Tangent
Segment Measures

ab = cd

art e part = part e part



4g x) 3( ﬁl}
4 @”

Example 2 Find x
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Typ e 2 ; Two secants intersect

OUTSIDE the circle

EA*EB=EC *ED

outside ® whole = outside e whole

é) Example 3:
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5 td5 = & (14)
5x¥5= g4

y Notice that
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segment,
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Type 2 (with a twist): Seanad T
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outside ® whole = outside e whole

EA?=EB * EC

Example 5:
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Lou\tsade ® Whole = outsuie ° Whole]
IQ(X—HS&) = O?Zf(yq) |
| [y + |44 = 5“75
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outside ® whole = outside e whole
5(‘2@) = ><2 |
ij;) JIpD = x* X=/» |

What you should know by now...

part e part = part pam

outside e whole = outside e whole




